BIJIMTOBIJI J1O 3ABJIAHbB JIJIS1 CAMOCTIIIHOI POBOTH
PO3/LT 1:

6 0 4 _g 1 4 19 -8 -3 12
L1 a)(ll j 6)(—16 4)’ B)(z —J’ F)(B —5} H)(‘S 17)7

-5 =23 -16

9 0 .. (—12 19
e) ; 1.2, A-B=| 5 4 -2, A-A= ; L3,
0 9 25 -13
-21 =51 -24
1 8 10
6,5 23 185 24 34 214
a) , 0) , B) ; 14. a)|2 -4 4|, 0)
10 13,5 -66 -3 34 134
6 2 3
0 12 -4 0 1 2 1 3 -1 29 =56 5
-4 16 -8|, B)|-3 -4 1|, p| 5 15 5|, m| 4 -5 -3,
-8 4 8 1 2 =2 -8 16 6 13 =29 0
-1 -11 -12 -25 5 -4 31 8 —-22
e 0 11 -—-11{; 1.5. a) | 85 125 -9, 6) | -7 53 26 |, B)
-5 0 5 4 35 35 -22 -7 19
38 8 —14
66 66 —37|; 1.6. gopmyau ckopouernoco MHONCEHHS He CNPABONCYIOMbCAL.
46 —-26 26
14 -32 -11
20 -36 —4894 —-3589
1.7. ; 1.8, ; 1.9, | —-16 36 -7 |; 1.10.
-9 29 2035 5079
-2 16 -10
21 -3 28
-5 -9 -22 19 -45 14
-13 1 -=3|; 1.11. ; 112, ; 1.13. ;
3 -16 -9 -8 20 9
7 =13 4
4 -26 -58
-93 35 -9 -55
1.14. ;  1.15. ; 1.16. |25 34 44 |; 1.17.
36 -20 34 -70
16 42 26
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-6 7 23

(251 ;2);1.18. —14 56 79 |; 1.19. —64; 1.20. 9; 1.21. 58; 1.22. —22; 1.23.
34 -1 -83

29; 1.24. 26; 1.25. 19; 1.26. 120; 1.27. 133; 1.28. 0; 1.29. 256; 1.30. 149; 1.31. —

86; 1.32. -9; 1.33. 27; 1.34. 245; 1.35. 174; 1.36. —809; 1.37. —18; 1.38. 32; 1.43. —

129; 1.44. 232; 1.45. 15; 1.46. —212; 1.47. —39; 1.48. 112; 1.49. 2; 1.50. 2; 1.51. 2;

-2 1
1.52. 3; 1.53. 2; 1.54. 2; 1.55. 3; 1.56. 3; 1.57. 3; 1.58. 2; 1.59. ( );

L5 -0,
1 -1 -1,25 -0,25 0,5
-0,5 04
1.60. 0 02 ;1.61.1 5 4 -7/(;1.62.|-2,25 -0,25 0,5 |;1.63.
’ 3 -2 4 1,75 0,75 -0,5
0,6 -01 0,4 0,25 0,25 -0,125
01 04 -0,1¢; 1.56. -2,25 4,25 3,625 |; 1.65.
-0,1 01 0, 0,75 175 -1375
0,3 025 -0,2 2 =2 1 0,6 -04 0,2
0,2 0 0,2 |; 1.66. | 1 I -21; 1.67. 2 0 -1 |; 1.68.
-0,3 0,25 0,2 -1 0 1 -0,8 0,2 04

0,85 -0,2 0,25

98 0,2 0,6 0,2

0,7 -04 05 |; 1.69. ;  1.70. ; L71.
-0,2 0,2 9,2 34

-045 04 0,25

3 -3 1,5 5 ,6 -08 L3 -3
; 1.72. ; 1.73. ; 1.74. ; 1.75.
-1,6 —18 -0,25 6 L6 0,2 -08 5
-1 -5 7
0,4 -0,2 0,2 0,2
( j; 1.76. ( j; 1.77. -0,5 -4 45|; 1.78.
2 -1 0,2 -0,8
-1 -4 6
-05 1 3 0,5 0,5 0
0,25 0 45|, 1.79. -0,5 -05 1 |; 1.80. mne icaye;, 1.81.
0,75 1,5 2 0 -0,5 0,5
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41 58 38 77
{—;—;—}; 1.82. {_;_ﬁ;_@}; 1.83. {-1; —2; 4}; 1.84. {2; 0; —1}; 1.85.
46 46 46 63 63 063
13 2 5 20 1
{3; 1; -1}; 1.86. {4; 2; 1}; 1.87. {——;——;——}; 1.88. {—;—6;—2}; 1.89. {4;
8 8 8 17 1717
18 4 78
0,9; 1,4}; 1.90. <—;—;—¢; 1.91. {1; 1; 1}; 1.92. {-3; -5; —4}; 1.95.
19 19 19

0;x2;2+x2;l ; 1.96. —i;2 ; 1.97. cuctema HecymicHa; 1.98. cucrema
7 7 17 17

HecyMicHa; 1.99. (%+ix3 —§x4 — X, ;—l+%x3 +%x4;0;0;0j; 1.100. (1;—1); 1.102.

4 4
30 535
417 417 41)

PO3JILI 2:
2.1, {=3; —11; 6};2.2.{10; —13; 21}, V734 ;2.3. moxxyTs; 2.4. (4; 1; 1);2.5.

(=5; 0)52.6. V2+2, V242 ;2.7 V13443, V13-+/3;2.8. 7, /51 ; 2.9. 20;

— — — — — — —

210, 13; 211, AB=%-0 Be-9.b @-%.l pi-4_b. yqa
2 2 22 22 2 2

np;lsz?, p55=?; 2.16. —4; 2.18. ‘5‘:70; 2.21. {—1; -2; —4}; 2.22. {2; 0; —
1};2.23. {3; 1;-1}; 2.24. {4; 2; 1}; 2.25. {1; 1; 1}; 2.26. —4; -2; 6; 10; 2.27. 2\/5;

2.28. —4; 2.29. 9; 2.30. 60°; 2.31. arcos;—z); 2.32. arcos—%; 2.33. 9; 2.34. 6;

2.35. -2; 2.36. ?; 2.38. (-2 -6 —8);2.39. %; 2.41. He KOMIUIaHApHI; 2.42.
KOMILTaHAPHI.
PO3/ILI 3:

31. Mey, Pey; 32. a) y=%x+3, 6) i4+§=1; 33. 3x—y-4=0,

3x+2y—-1=0, 3x+5y-34=0; 3.4. arctgg, arctgg, arctgl2; 3.5. 12 k6. 00.

282



3.6. 3x-4y+14=0; 3.7. 7Tx+3y-32=0; 3.8. 1) 2x+3y-7=0, 2)
3x—2y—-4=0;3.9. 5 00. 3.10. (11; —11); 3.11. (10; -5); 3.12. (-2;-3); 3.13. a)
15; 20; 25; 6) 3x+4y-20=0; 4x—3y+15=0; 7x-24y—180=0; B)

24x+7y—-35=0; 1) 1200. n) x+18y+60=0; e) (2,47,-3,47); x) arctg%; 3)
150k6.00. 3.14. (x—2) +(y+3)' =36; 3.15. (x+1)+(y-2) =25; 3.16.

(mgj +(y+§j _0, 3.17. (x=2) +(y—1)" =25; 3.18.

2 2 2 2 2 2

x=1V+(y-4)Y=8;319. 1) —+2 =1, 2) = +L -1, 3) 242 -1 4
(=1 + (=) T Vo0 1aa = 5P

x2 2 x2 2 x2 2 x2 2
+2 =1, %) +2=1; 320. 1) -2 =1, 2 LX) 3
100 64 5

169 25 ) 9 16

2 2 2 2 2

e 14)x——y—=1,5)§——

64 36 36 64

X’=y,4) ¥’ =-2y; 3.22. (x+1)

%_1 3.21. 1) y*=4x,2) y*=-9x, 3)
( ) =25, xono, r =4, yeump (-2, 3),
3.23. (x+2)2 +4(y—3)2 =1, eninc, yeump (-5; 1), a=1, 6 :%,

PO3/L1 4:
4.1. 5, 10; 3v2; 4.2. C (6; 1; 19), 7 (9; -5; 12); 4.3. J30; 4.4. 4on. 4.5.

x+y—4z=0; 46. (I: —I- 2: 47. 2. a8 *—t_r=t_z=l

-2 -3 -3
x—1 _ Y- ! Z_l; 4.9. arccos 8 ~68; 4.10. =9 5ke6.00.; 4.11.
-1 -4 2 \2122
18x—11y—-29=0; 4.12. 3xy0.00..
PO3 11 5:
5.1. 0,5:-4; 0,5; 5.2. +/5; +/3; 0; 5.3 % %; ~Z.54 —,72;1;5.5 9 1; 1,1;

5.6. (—o0;0)U(0:1)U(l;0); 5.7. (—oo;%} 58. (—oo;1)u(1;2)U(2;0); 5.9.
5.1

(—o030)U U (4;0); 5.10. (—o0;1) U (3;00); 511 (—oo;1)U(2;00); 5.12. [-4:4]; 5.13.



(0;1)u U(l;eo); 5.14. [-13); 5.15. [4]; 5.16. (-1,0)u(1;2)u(2;0); 5.17.
[-4;-7]uf0;7]; 5.33.0,5; 5.34. «0; 5.35. 0; 5.36. 1; 5.37. 0; 5.38. 0; 5.39. 1; 5.40.
—0,5; 5.46. 0; 5.47. 1; 5.48. 1; 5.49. o ; 5.50. «; 5.51. 0; 5.52. «©; 5.53. «©; 5.54.

%; 5.55. 2; 5.56. %; 5.57. 0; 5.58. «; 5.59. %; 5.60. 0; 5.61. 3; 5.62. «©; 5.63. «;

5.64. «; 5.65. 3; 5.66. 0; 5.67. 4; 5.68. %; 5.69. —%; 5.70. %; 5.71. 32; 5.72. 6;

2 12 NE)

5.73. -2; 5.74. 5; 5.75. 2; 5.76. ?; 5.77. —4;5.78. —; 5.79. 4; 5.80. —?; 5.81.

—é; 5.81. —-1; 5.82. %; 5.83. —0; 5.84. —0; 5.85. 1; 5.86. «; 5.87. «; 5.88. -2;

5.89. 2; 5.90. 9; 5.91. %; 5.92. 1; 5.93. —6; 5.94. %; 5.95. ¢°;5.96. ¢ °;5.97. ¢”;

5.98. ¢*; 5.99. ¢°; 5.100. 2+/e; 5.101. %; 5.102. ¢°; 5.103. %; 5.104. %; 5.10S. 1;

5.106. ¢"; 5.107. %; 5.108. ln%; 5.109. lng; 5.110. «; 5.111. In4; 5.112. %;

5.113. 4; 5.114. «; 5.115. g; 5.117. venepepsHa; 5.118. po3pus [ pony BT. x =1;

5.119. uwenepepsHa; 5.119. po3pus I poay B T. x =% 1 x =1; 5.120. HenepepBHa;

5.121. po3puB I poay B 1. x =2; 5.122. Henepepnna; 5.123. po3pus I poay B T.
x =1; 5.124. po3pus Il pogy B T. x =1; 5.125. po3pus II pony B . x=0; 5.126.
po3puB Il pogy B T. x=-2 1 x=2; 5.127. po3pus Il pony B 1. x=-1; 5.128.
po3puB II pony B T. x=1; 5.129. po3pus Il poay B 1. x =-2; 5.130. po3pus II
poay B T. x=-4; 5.131. po3puB Il pony B 1. x=3; 5.132. po3pus Il poay B T.
x =1;5.133. po3pus Il pony BT. x =—1; 5.134. po3puB Il ponyBT. x=—4, x=0,
x=1;5.135. po3pus [l pogy BT. x =1.

PO311J1 6:
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6.1. ' =20x"-x; 6.2. y =2x"-2x+ 63. y'=12x"-x+1; 6.4.

1
2Jx’

y' =24x"-T7x"+3; 6.5. y' =2x—x"; 6.6. y'=6x"—0,5x; 6.7. y'=8x-7; 6.8.

1 3 6
"'=6x’—2x——:;6.9. y' =14x"—x"; 6.10. y' =3x>—x°; 6.11. ' = -
Y x’ 7 7 4 Mfx  x*
5 18 5 18 6 28
6.12. '=Z3Ax* ——; 6.13. "= —— 6.14. "= ——; 6.15.
SRS T el SRR
7.~ 12 8 1 2 8
= 8x-—=; 616, Y ="AUx——; 617. y=—"0-"" 6.18.
Y 6 x’ Y 7 3x* 7 3x X
3 42 7 72 3 6
"= o 6.19. "= - 6.20. "= - 6.21.
S TR S
1
y' =e" -sinx+ e" - cosx; 4.22. y'=e" AUx +e"- ; 4.23.
3/ x’
y' = cosx-l—sinx-lnx; 6.24. y' = cosx- — siin -log, x; 6.25.
X xln2
"=lo x+L' 6.26 ool log. x + arccosx L. 6.27
T A N I s O
! X . x r 1 1
y' =cosx-3"+ sinx-3"In3; 6.28. y' =ctgx- - x; 6.29.
2\/; sin’x
QU N | NP S 6.30 e x4 et 6.31
Y cos’x & 352’ N 7 x’ o
| | 5 . 1
\/—‘tgx_\/;‘ B 6)(? ‘\/;_(x _25).2\/_
y=2X  CoSX. g3y = X, 633
g x X
1 1 1 1
‘X — -arctgx -\/;——-tx
Lext o i T _cosx oy B ,_Inx-1
y = £ 6.34. ) = 16,35, y =
Jx Jx In" x
. 2 x o or
6.36. y,:2x smx. 2cosx X ; 6.37. y,:e cosx 2e smx; 6.38.
sin” x cos’ x
X X 1
¢ rarceosxre 2 Scosx —5x - sinx
y'= = 63, = XS 6 4.
arccos” x cos’ x
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16x° —18x —(4x4 _9x2)_m

! 2VX+4 4 resin 4 4
= ; 6.41. =5"""InS —; 6.42.
7 Vx+4 4 V1-16x"

In2 sinx _cosx 3
'=——: 6.43. = ; 6.44. ; 6.45. = \/ ; 6.46.
4 2/In2° " V= 2+Jcosx’ V= 2\/ sinx r=
2x—1 8x 1 1
‘=1 647. y'=————; 648. y'=_—; 649. )'=—— 6.50.
24/x? —x 24/4x> -3 2x

N

y' =2"*"In2-cosdx-4; 6.51. y'=2arctgx-l;2; 6.52. y'=3ln2x-l; 6.53.
+Xx x

5x
1+x"

y' =-=2sincos x - cosxcosx- sinx; 6.56. y' = cos\/_ 1 ¥’ _—18
’ 2\/sm \/_ xIn” 2x’

6.58. Y = ! 2 S 6.59.

arctg\x* +4 S5+x° NI

L 2702 660 v =cosvims - -— "8 . 661

1
2+/Inarccos2® arccos2® -2’ 2/In8"

6 .
[ — ’ 6.62. 4 — 7arctg(arcsm x=3) 1 7 .
g log,,(6x+5)-(6x+5)n12 d !

y'=-8co0s’(2x +5) - sinx; 6.54. y'= 6.55.

3
| e S S W L X A A
1+ (arcsinx —3)" 1—x’ 322ty i

; 6.73.

e’ —x—-20y" cos(x—y)-
,_ X +xy-2x+y.

; ; 6.77.
x—x>+xy x(e"y _1)_ 4

2x+1

[_ Y+ cos(ln(x2 + x)) .
(=) x1+y . 678, Y =— X +X. 681,
x
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.3 . 3°-6 29 1

=— ; 6.82. y =-— ; 6.83. y. =— 84. y =———; 6.85.

VIR, Y ST e s YT T2
. cos(t +1)—4sindt _ 6.85 , _Sindt—e” 6.87
~ cost+ (2t +1)sin(x +y)+1’ . YT cost .
,:2x-(l+cosx)+sinx-(x2—4)_ 6.88 y,:2x-(x2+3x)+(2x+3)-(x2—4)_
Y (1+ cosx)’ T (x* +3x) ’
6.90. ) = (e"‘+cos7x)—(— e’ —27sin7x); 6.94. = 8 _. 6.95.

(e"‘ + cos7x) (x~4)
3x° +2x In(x® +x*)
y =X % 6101 ~0976; 6.102. ~1994; 6.103. ~ 2,136
n’x

6.104. ~0,106; 6.105. ~3,276; 6.106. =4,731; 6.107. ~5,051; 6.108. = 7,28;

6.109. ~1,041; 6.110. =19; 6.111. ~0,695; 6.112. ~0,724; 6.113. ~ 0,088 ;

6.114. ~ 0,906; 6.115. = 0,875; 6.116. = 0,47 ; 6.117. ~1062,98; 6.118. ~ 1,518.

PO311J1 7:

711, y_ (O,75)= —2,25; 3pocrae: (O,75;+oo); crajiac: (— oo;0,75); 7.12.
- (O 58) 1,38; V.. (— 0,58) =0,62; 3pOCTaE: (— 0,58;0,58); crajae:

0;—0,58)U(0,58;40); 7.13. y_(0)=2; y_(-1)=1; y_(1)=1; 3pocrae:

Vo
(-

(- 1;0)U(I;400); cmamae: (—oo;—1)w(051); 7.14. y_ (=1)=-2; y_(1)=2; 3pocrae:
(—oo;-1)U(l40);  cmamae:  (-L1); 7.6, y (-141)=4; y (1,41)=4;
Vo

(O) 0; 3pocrae: (— oo;—1,41)u(0;1,41); CIaIaE: (— 1,41;0)u(1 41; +oo) 7.31.

7.35.
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J?

.

7.39.
PO3/ILT 8:
8.01. @=12x2y2—12y3+ﬂ —8x'y 361y + VX g0 a——3x 24
Ox N 2y’
1 oz 1 0z
+4xy* — ;. —=x 44x’y— ; 8.03. P _ 6xy’ +6x° +—;
4 2\x+y Oy 4 2\x+y ox 4 v \2x
0z oz oz 1
—=9x’y" —4x’y; 8.04. ——=16x"y’ +15x7y"; —=12xy  +x’y+ :
oy 4 4 ox 4 4 oy 4 4 2\3+y
8.05. %=4x3y3+y2—sinx; %=3x4y2+2xy; 8.06. %=x3+10x‘9y2+cosx
ox oy ox
Z_ . 3xy? =2x"y;  8.07. % _ v +2cos2x; —= 3 +2xy;  8.08.
oy ox oy y
%=2lny-l+4x3y2; %=2x4y+2y-cosy2; 8.09. % 2 3y ;
Ox y oy ox xIln2 2\/_
% odxy+6: 810, Zo3pr 1100 ol g0 gqn, EoS
Ay ox o yh3 ox  24x
oz _Jx. 0z cosy | Oz 0z 2x—y°
x-cosy; 8.12. — ; —=—Jx+2-siny; 813, —=—7+——
8y 7 ox  2Jx+2 oy 4 ox  2x*—xy’
0z =Sw 82 1 oz x Oz y-(x2+y)—2x2y
, 814, —=—; —=-— 815. —= 5 ;
8y 24x* —xy° y oy y Ox (x2+y)
%:x-(x +y):xy; 816, - __ Iy - ez 1 . g
oy (x2+y) ox (x+10) 8y V- (x+10)
_ Iy 0z _xoyly gy Eo My o2 1 g,
o x'y 9 X'y Ox Wy oy yex
Oz __sinx 0z _ cosx 8.20. oz _ 1 . 0z _ arccosx 821
ox Ly’ oy 2\/7 ox  fy1-x*" oy 2.y o
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Xy x ’ .
%:yew. Ry Z_Z:xexy.@Jr e . 8.22. 0z _2x+2e" %:_x + 2e :
* y

0 2.2y’ o 3y " oy 3y’
y y 2 y
8.23. 0z _2x+2e ; = _Sye 4(x2 +2e ); 8.24. e oy 25
ox 4y oy 16y ox (x+y)
w T o 4siry @
Z y Z sin”y Z s
—=——a—; 825, —=—17—+=—; —=3sin"y-cosx-v4x-3; 8.26.
oy (x+y) ox 2+/4x-3 oy 4
0z cosy’ Oz o Oz 1 Oz
—= ;  —==3y-siny” -~2x; 827. —= ; —=
ox  x Oy ox (x+y)- 1—x° oy
xX+y .
+ arcsinx R s s .
_ 1-x’ . 8.28 %_2)‘:.)} ‘(X +y )_2xy . %_ 3xy _
(x+y) T o (x2 +y3)2 T oy (x* +y° )
Xy 8.31. gradz=5i+11 7 8.32.
(x2 +y ) 3
5 7 1 - 2- 4 -
radz =| —— — 7/ 8.33. radz=—i+——7j; 8.34.
& (2 3\/_j (16 33\/2_5} £ 81' " 2437
gradz = —7i— } ; 835, gradz= —gz — %} ; 836 gradz= 2i+ } ; 8.37.
gradz =576i +2304) ; 8.38. (i—gl 8.39. (-0,8;0,6); 8.40. (0;1); 8.41.
5 5 12 0z
8.42. (-0,6;-0,8); 8.43. 844. —| =-0,1125;
o) s Cososwa (- e L) wa &
8.45. gradz=>i-—7: Z —_L.g46. gradz=—>i+> 5. % 23 .84
8 167 ol 8 32 64 o1, 32
- - - Oz 4 s 1074 2
radz=3i+27j; — =—; 8.48. radz =151+ j; — =-—:8.49.
8 7 Gl s 8 ), T
1 - 1 - oz . - 0z 8,6
radz =———i+-—j;, —| = . 8.50. gradz=08i+0,2j; —| =->;
8 Jis' s Gl 13J_ £ 7> il 13
8.51. gmdz=32+§}'; ozl 38 gs, gradz =0,2i + 0,4/ ; %l _ 02
13 13 oll,, 65 ol |y
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8.53. gradz =0,25i+0,25]; % =-0,05; 8.54. gradz =—0,25i; %l _ )5

M M

8.55. ~6,83; 8.56. ~2,68; 8.57. ~22,66; 8.58. ~0,96; 8.59. ~119,34; 8.60.
~0,03; 8.61. ~0,499; 8.62. ~3,392; 8.63. ~-4,76; 8.64. ~—10,225; 8.65.
~—0,175; 8.66. ~—0,087; 8.67. ~0,027; 8.68. ~0,637; 8.69. ~0,747; 8.70.
~0,649; 881. z_ =2(2030)=500; 8.82. =z_ =2z(10;50)=2850; 8.83.
z_=12(40;30)=700; 8.84. z__ =2z(20;50)=800; 8.85. z_ =2z(20;40)=300;

8.86. z,. =2z(10;40)=200; 8.87. z, =z(50;20)=900; 8.88. z  =z(2;2)=4;
z,. =2(-2:2)=4:8.89. 2 =z(1;1)=2;8.90. z, = Z(_é _Ej 7
2 2) 4

PO3JILTI 9:

2

10x
9.0. ——+ x* +3n|x|+ C; 9.2. 5x+7i+sinx+c; 9.3. f—0+5x+sinx+C;
X

5x6 x2 8 7 3 2
94, — ——+3Inx+C .95 * _* _o2yi(C: 9. dr’ Tx
3 2 4 42

+2x+C;

3

9.7. x* +2x" +5lnx+C; 9.8. 2x° +6x> —cosx+C: 9.9. x* + X 4 Inx+C: 9.10.

I +4lnx+C; 9.11. 44\/_5 +C:9.12. Zx _ \/_+6x+C 9.13.
2 15«/

%i/x_4+44\/x_5+c; 9.17. %‘\'/x” —64x+C; 9.18. %%/F—gxuﬁc; 9.19.

%i/x”— \/ -3RA/x—x*+C;9.21. %sm(4x 1)+C; 9.22.
—%ln‘l—3x‘+C; 0.3 ¢ 4Cy 924477405 925, cgl3-4x)+C

9.26. —iarctg(3 —4x)+C; 9.27. %sin(Sx +3)+C; 9.28. arcsin3x+C; 9.29.

—3ctg§+ C;9.30. —%m\?, —8x|+C; 9.31. %ln‘l +x°|+C; 9.32. arcige” +C; 9.33.

V(&' =4) +C; 9.34. Infnjx|+C; 9.35. 1
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e 9.38.11n\1+x4\+c; 0.39. 2o  +1+C; 9.40. LI+ C; 9.41.
Inx| 4 2

3
e'(x—1)+C; 9.42. %ln‘x‘—éx3+C; 9.43. (x-2)sinx+cosx+C; 9.45,

In|x|—1
%\/F (inlx|-1)+C; 9.46. C- In -1 . 9.47.  —xcigx+nfsind+C;  9.48.
X
x’sinx + 2xcosx — 2sinx + C; 9.49. ez" ((x +3) —(x+ 3)+%) +C; 9.50.
1 2 -
L4 sy cosx+2(d—x)sinx+sinx+C; 961,  ~m*2ic: 9.6
5 5 x—2
larctg(ﬂj +C; 9.63. Larctg(ﬂj +C; 9.64.
4 2 33 V3
l1n\4x2 —4x+5)+ lamg( 2x = 1) +C; 9.65. 1nM +C; 9.66.
2 4 2 x =3
arcsin(x—2)+C; 9.67. L resin L e 9.68.
V3
3+ 2x+2 —4ln‘x+l+\/x2 +2x+2‘+C; 9.69. In ;_11 +C;  9.70.
x_
ln(x > j +C; 9.71. gln\2x+ | —§1n\3x+ 2|+C; 9.72.
X+3 2 3
%m\zx ~1 —%ln‘?)x +2[+C;9.73. I~ [ +Cl5 974 - 2,5In/x +1/+35ln)x + 5|+ C;
x_

9.79. isin§x—§sinix+ C; 9.80. C—lcos4x—Lcos8x; 9.81.

16 3" 8 3 8 16

3sin£+§sin5—x+ C; 9.82. lsin2x—isinSx+C; 9.83. Lsin7x—lsin3x+C;
6 5 6 4 16 14 6

9.84. Lsin Tx + lsin 3Ix+C; 9.85. lcos 3x— Lcos Tx+C; 9.86.
14 6 6 14

Stg ™ +4

%sin4x+isin2x+€; 9.87. lntgg +C; 9.88. %arctg % +C; 9.89.
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| 15+tg” | tgx—3—2\/§‘ 5
N 2l.c; 990. C- N 2 ;991 C-——; 9.92.
S | fs—rg® N3 X 31003 g
) 2 2
gt +1

+C; 9.93. i—lsin4x+C; 9.94. £+Lsin8x+C; 9.95.
2 8 2 16

BT

3 Lo+ Lsindax+C: 9.96. %cos Dx— %cos3 2x+C: 9.97.
) 2 ., I . 1 1 )
sinx——sin" x+—sin"x+C; 9.98. C- —+ ; 9.99. sinx— +C;
5 3cos’x cosx Sinx

9.100. %cos5x—%00s7 2x+C;  9.101. %sin“x—%sin(’x+ C; 9.102.

1 2 1
—cos’ x—=cos’ 2x+ —cos’ x+C.

PO3JILT 10:

10.1. 19%; 10.2. 0; 10.3. 77—2; 10.4. 516 -1); 10.5. 7%; 10.6. arctg%; 10.7.

lln2; 10.8. &; 10.9. 3_7r+1n_2; 10.10. ﬂlnﬁ—llné; 10.11. 1; 10.12. O;
2 3 g 2 35 3 2

10.13. %; 10.15. 2; 10.16. 1; 10.17. ~/2 —1; 10.18. %; 10.19. g; 10.20. %lng;

10.21. 2ln2—%; 1022 1-2; 10.23. 1n(3\/§)—%; 10.26. %—%; 10.27.
e

lK@.od.; 10.28. llke.od; 10.29. 1021«3.00.; 10.30. 1021«3.00.; 10.31. llke.od.;
6 3 3 3 3

5 2 2
10.32. SQK&OO.; 10.33. 451«3.00.; 10.34. 24xke.00.; 10.35. 1051«3.00.; 10.36.

(4—-1n27)x6.00.; 10.37. %x/%«;.oa.; 10.38. 5%1{6.00. 10.40. 9x6.00. 10.41.

21 % k8.00.; 10.42. % K8.00.
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PO3I1JI XI:
| . 1 1 X
11.1. yz—Ee +C; 11.2. yz—gcos5x+C; 11.3. yzzarcth+C;

X

; 11.6.y:1n( 1 j;
1-xC C-e

11.4. y=—%ctg2x+C; 11.5. y =

3 8
1
11.7. y_(*/g_+cj; 11.8. y=—%ctg2x+C; 11.9. y=C—m;
1 32

11.12. y =

11.10. y =— 11.11. y =

1
153x+C’

3
5 9
113, y=)|—>——1|; 1Ll4. y=\/(—«3/x5+Cj; 11.17.
\/[mC—zi/ij 20

y:\/( e +Cf -1 1118,y = 2l—x+2C; 1110, yzlg‘lo;zc;
+
2 . 2
11:20. y=%; 11-21.arcz‘g£:1n(c x2+y2); 11.22. Cy=ylny+x;
Y

11.23.  y=xtg(Cx); 11.24. 2Cy=C’x"+1; 11.25. y=xe"™; 11.26.

b

y=2x=Cx*(y+x); 1127. p +x*=Cy; 1128, y*=x*(2n|Cx]); 11.29.

2

2 2
X =C"=2Cy; 11.30. Cy=e*; 11.31. y=¢" (C+%j; 11.32. y=e“; 11.33.

y=(x+C)1+x*); 1134, y=Cr’+x*; 1135, y=Ce™+x-1; 11.36.

y=sinx+Ccosx; 1137. y=e'(Iny+C); 11.38. xy=C-Inl[; 11.39.
y = x(C+sinx); 11.40. y=e'(x+C); 11.41. y:i;
xIn|Cx|
1 1 4x 1
1142.y= |——+—;1143. y=———; 11.44. y=——(1+)’); 11.45.
4 \/x2+Ce2"2+2’ Y ln‘x‘+1+xC’ Y 2(+y )’
yzL; 11.51. y=+x’+Cx; 11.52. 3xy+2x°+y’=C; 11.53.
1+ln‘y‘+Cy

2

4x2+xy2+%y4=C; 11.54. xe’ +ye' =C,; 11.55.x+%w/(x2+y2)3—y?—C;
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11.65.  y=CarctgCx+C,; 11.66. y=e'(x-1)+C +C,x*;  11.67.

y=C sinx+C, _x_sznz2x; 11.68. %ln‘3y+4‘=C,x+C2; 11.69.

y= 1+;C; 11.70.y = C, In|x+ C,; 11.71. 1n‘cly+1/cfy2 —1‘ —C(x+C,);
Ix+ 2

11.77. y=Ce " +C,e™, 11.78.y =Ce" + C,xe™"; 11.79.

y = C.cos/3x + C,sin\3x ; 11.80. y = ¢*'(C,cosx + C, sinx); 11.82.

y=Cln*x—Inx; 11.83. y=¢"(C,+C,x); 11.84. y=4x+C, +C,e™"; 11.85.

y= %+ e "(C,cosx +C,sinx); 11.86.y =Ce" +C,e " =5x—-2; 11.87.
y=C +C,e™ +x’; 11.88. y=Ce" +Ce™ —3x> -3x+4,5; 11.89.
y=Ce " +C,e™ +%62x; 11.90. y=Ce™+C,e"4,5e™", 11.91.

. : 1 :
y=e"((C,cosdx+C,sindx) + ﬁ(l4cosx + 55inx)).

PO3JILI 12:

12.11. i; 12.12. 2; 8.13. &; 12.14. l; 12.15. é; 12.16. 3; 12.17. 2; 12.18. E;
3 21 9 2 4

8.19. %; 12.20. 2; 12.21. He BuUKOHYyeTbcs; 12.22. BukoHyeTbes; 12.23.

BUKOHYeThCS; 12.24. He BuKOHyeTbes; 12.25. He BuKOHyeThecs; 12.26.
BUKOHY€eThCS; 12.28. BukoHyetTbes; 12.29. Bukonyetbes; 12.30. BUKOHYETBHCS;
12.31. 360xHuit; 12.32. po30ikuwmil; 12.33. po3oivkHuit; 12.34. 30ivkHUMi; 12.35.
300k, 12.36. 30ukHmMi; 12.37. 30vkuwmit; 12.38. 300kawmi; 12.39. 30DLKHUM;
12.40. 30vkuwmii; 12.41. 30DkHUN; 12.42. 300kHmMi; 12.43. 30pkHmi; 12.44.
po30kHuiA; 12.45. 30ixuMit; 12.46. 301xHUMM; 12.47. 301kHMA; 12.48. po301KHUI;
12.49. po36ixkHuii; 12.50. 306iraetbcs HeabOcomoTtHo; 12.51. 30iraerbes

HeaOcomoTHO; 12.52. 30iraeThcsa abcomoTHO; 12.53. 30iraeThcs HeaOCOIIOTHO.
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